AGRAS MG-1 cy

In the Box

Check that all of the following items are in your packages. If any item is missing, please
contact DJI or your local dealer.

AGRAS™ MG -1

Aircraft Body x 1 Landing Gear Leg (Left) x 1 Landing Gear Leg (Right) x 1

Radar Module x 1 Velcro Strap x 2 Power Cable x 1

Propeller Blade Pair (CW) x 4  Propeller Blade Pair (CCW) x 4 Propeller Holder x 4

<5
-




Micro USB Cable x 1 Slotted Screwdriver x 1 2.5 mm Hex Key x 1

Air Filter x 2 Screws, Nuts and Washers ~ Manuals .
ﬁ
M3 x 8 In the Box %
] % M3 x 10 Quick Start Guide
& M3x18 Disclaimer and Safety Guidelines
&  Slotted Screw

Propeller Washers
M4 Screws and Nuts

Download the full User Manual:
http://www.dji.com/product/mg-1

AGRAS MG-1 SPRAYING SYSTEM

Spray Tank x 1 Sprinkler Kit x 2 Spray Tank Plug x 4
(With XR11001 Nozzles)

Hose Clamp Screws

Hose Clamp A x 6
M3 x 6

@
¥ M5 x 18

M3 x 8 (Self-tappin
Hose Clamp B x 10 x8( pping)

AGRAS™ is a trademark of DJI
Copyright @ 2016 DJI All Rights Reserved



